
Bv lzllcE_z.tl17 lcl

2o 17

COMMUNICATIVE ENGLISH-II

Paper : G-2.1

F\til Marks : 4A

Time :2 hours

The fi.gures in the margin tndimte full marks
for the questions

1. Answer any fiue of the following : 2xS=10
(a) What is a verb? What are the various

rypes of verbs?

{b) trVhat is an aCjective? Give examples in
sent-ences.

(c) "I know rvhen he will coilte.,, What is the
Principai Clause and tire Subordinate
Clause in the above sentence?

(d) Complete the following sentences using
appropriate connecting words from the
brackets :

(i) Tell me the name of the giri =_- is
reading the book.

iwheni i:owiwhoJ
{tl SLre couldn,t eome to school

her mother was ill.

A7 /e81
(because/so/eveni
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